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Choose the most appropriate option for the following

The process for identifying the components of material and the impurities
present in it is called analysis. '
{(a) Quantitative  (b) Qualitative - (c)Bothaandb (d) None of these -
A continuous calibration is required for which of the following method?
{a)instrumental (b)chemical

{(c)titration (d) gravimetry

Which of the following is weakest acid? '

(a)HCOOH(Ka=1.8 x10™) (b)CsHsOH(Ka=2. 1x10 10
(C)CeHsCOOH(Ka=1.8x10") - (d)HCN(Ka=7.2x107%)

The pH of an agueous solution is4, It's [OH] is

(a)10*® (b)10™M (c)10% (dy10*
Which reagents are used in estimation of halogens in Carius method?
(a)HNO; & H,S0, (b)HNO; & AgNO;
{c)HNO; & HC] (d)All of these
The number isomers of CgHy4 are
(a)4  (b)1 (c)2 ()5
Diastereomers are of each others.
(a)Not mirror image : (b) mirror image
(c) identical (d) none of these

Which of the following chelating agent is used for the removal of harmful
radioactive metals from human body?

(a) Glycinato (b) en (c)edta  (d) dmg

Complex containing two or more different kind of ligand are called
(a)poly nuclear complex {b)mix ligand complex

(c)chelate (d)ionic complex

Complex containing two or more central metal ions are called
(a)poly nuclear complex {b)mix ligand complex

{c)chelate . (d)ionic complex .

Answer the following in very short (Any Ten)

Write advantages of chemical methods.

Define: Accuracy and Precision.

Write disadvantages of instrumental methods. :

Calculate solubility of AgCl In water, if Ksp = 2.8x10 ",

Calculate pH. of saturated solution of CO, having [Hs0*]= 1.3x10™* M.
Define : Sparingly soluble salt, Selective precipitation

Give the structural formula of :

(i} 4-ethyl-3,4-dimethy! heptane (ii) Neo hexane

The boiling point of n-butane, n-pentane and n- hexane are 0°, 36° and 69°C
respectively. Explain. '

Give classificatlon of hydrocarbons,

“Every multidentate (Polydentate) ligand is not necessarily a chelating
ligand.” Explain. .

Give IUPAC name for: (1) [Co{NH3)s]Cl3 (i1y [(NH3)sCr-OH-Cr(NH3) 5]Cls
Define: Bridging ligand, Ambidentate ligand.
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Q-3  Discuss stages of analysis and give complete classification of chemical [10]

“analysis.
' OR
Q-3  Explain five different methods for minimization of systematic error. [10]
Q-4  Attempt the following
[A] Discuss Lowry-Bronsted and Lewis concept of acid and base. [05]
[B] Discuss in detail about self jonization of water. [05]
OR

Q-4  Attempt the following
[A] Discuss in detail the Arrhenius concept of Acid-Base and give its fimitations.  [05]
[B] Calculate the solubility of PbSO, in: : _ {o5]
() In pure water and (ii) in 0. 1M Pb(NOa)z solution.
(Given: Ksp of PbSO4 = 1.8x10%),

Q-5 Attempt the following

[A] Discuss the Kjeldahal's method and Duma’s method for estimation of [05]
Nitrogen in organic compound. '

[B] Draw the E/Z structure, assign the priority of the- group and specify each as  [05]
E or Z. if not possible then give the reason.

(1) 2-butenal (i) 2-butenoic acid (iii) 1-chloro-Z-methyl-butene
(iv) 2-bromo-1-chloro propene (v) 1-bromo -1,2-dichioro ethene
OR
Q-5 Attempt the following ~
[A] The following names are objectionable. Draw their structure and suggest - [05]
correct IUPAC name.
(i) 2-propyl-1-propene (i) 1,1,3-trimethyl hexane

(iii) 1,1-dimethyl-2-butene  (iv) 2-isopropyi-1-propene
(v) 2,4,5-trimethylhexane _ '
[B] Combustion of 6.51 mg of compound gave 20.47 mg CO, and 8.36 mg H,0. [05]
The mol wt. is 84 gm/mole. Calculate % of composition, empirical formula
and molecular formula. (Atomic Weight of C=12, H=1, 0=16).

Q-6 Attempt the following

[A] Give name for the given abbreviation of polytdantate ligand and draw its [05]
structure. '
(i) (OX)*  (il) dien (iii) EDTA™ (iv) dmg- (v) nta™

[B] Describe the geometry of complexes having co-coordinating number 2t0 6 [05]
glving suitable example.

OR
Q-6  Attempt the following
[A]l Give classification of chelates. ' [05]
[B] Give classification of ligands on the basis of number of donor atoms. [05]
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Q-1 Multiple Choice Questions. Write The Correct Option in Your Answer Sheet. 10
1 eyt <l a2élel vl w0 Ul e Al o wgfid _ [Reug sdami wid B,
() CURICHS (1) YRR (5) 2L oL oL erl () Bl wly Al :
2 {13 vpramig] 568 ughfd HI2 Add visd vz 87
(1) Bragiie2q (W) ARty (5) 2092a- (8) AdHA
3 Slaie] sl (oin 2R 97
(a)HCOOH(Ka=1.8 x10™%) (b)CsHsOH(Ka=2.1x10"%)
(€)CeHsCOOH(Ka=1.8x10%)  (d)HCN(Ka=7.2x10™%)
¥ syefla giapill pH 4 8 Al d=i [OH] ol gt 8,
(a)107% (b)107%M (c)10% (dy10*
! Hraw urH R delisy-le ufmiua vl s Bl i Gudlo aw 87
(a)HNO; & H,S04 (b)HNO3 & AgNO;
(C)HNO; & HC! (d)All of these
% CeHia lumuesiflappar 8,
(aya (b1 (c)2 (d} 5
9 P2 s ofioell 8. .
(L) 2URE1 Well (G101 2} (1) wiall ndl(ie
(%) WAL (8) ¥ up el
¢ g adleniell wilAses &Q@cwi[ Hagodld 52 521 w2 A3 putiamisl A6 Al Sieyead] Gulol seuui 2
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(a) Glycinato {b) en (c) edta (d) dmy
& 2gleL Hi 6% Aol o (Bed wstadl (ol S B oA sdam®,
(u1) ot 3 [@des (ot (ot islaL (@i (5) 42 (2) wudifis Ridliy
o dfleuicitddlayi-danguaddaided_ sdan s,
(o) g $lega (@dles (ot) Fs adéli (&S () Adz () vudilRs dsla
Q-2 fAaruadl S5l oyeliod il (DSum et ) ~ 20
! vt (s ugtldoilan glaee il
R v i 2iselS wd wdyfel,
3 Gusilla ugh[dolll drglaes @vil,
¥ wlui AgCl 4l grendt awiadl 531, sYLKSP = 2.8x10 ™.
1 [H30%]= 1,310 M. §i dl CO2 AL didrd g 4t pH <l ol 531
% ey 3L ey g w12 vl waleollyas 4 wagud
9 ofeRgfla ot wl;
(i) 4-ethyl-3,4-dimethyl heptane {i{) Neo hexane
¢ "oy, n -2 1 wisH Bgall Gesdn dsuii-0%, 36° 2id 69° C Bl ",
¢ bdlswia o aollsom 2l
w0 Rl ot oigéedln [@oled 24 (3aZloL (&g ell ",
1% IUPAC < 5@ 52l (i) [Co(NH3)iCly (i) [(NH;)sCr-OH-Cr{(NHs) 5}@15
93 el uidl : () wfFerdq2 [@dles (ofl) Bilsya [dies
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PbSO4 <l greadi <] auiasl 531
(1) In pure water and {il) in 0.1M Pb{NQ;); solution.(Glven: Ksp of PhS0O, = 1.8x10°%).

Al uadl syetor 0L ,
stollins Wlloy-Lal S ZAoriel wRauA 12 reiedl ugh A gl ueh(d (B3 well 531,
E/ Z ot €, 4 L WHteteud 2R 25 E vt Z adlh wup 531 o7l g 4 i, L A siae st

(i) 2-butenal (i) 2-butenoic acid (iii) 1-chloro-2-methyi-butene
(iv) 2-bromo-1-chloro propene {v) 1-bromo -1,2-dichloro ethene
w4l

[ wrdl syqiol 2l

{1 el st aittiorets B, duell of1g) 1AL v o TUPAC U yatdl

(1) 2-propyl-1-propene (i) 1,1,3-trimethyl hexane

(iii) 1,1-dimethyl-2-butene (iv) 2-isopropyl-1-propene

{v) 2,4,5-trimethylhexane
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() (0X)-2  (ii) dien (jii) EDTA-4 (iv) dmg- (v) nta-3
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